[ number of missing inner layers | [ number of missing outer layers |

1 - - - - — Entries 1 1e - - - - —| Entries 1
E ' ' ' ' ' Mean 0 E ' ' ' ' ' Mean 0
r Std Dev 0 r Std Dev 0
e T L o |
10 E Entries 4 10 E Entries 4
F Mean 0.25 F Mean 0
L . | Std Dev 0.433 o Std Dev 0
2 S | -2 L ]
10 E Entries 4 10 E 4
E Mean 0.25 E 0
3 B . . . . |Std Dev 0.433 3 B 0
10°F 1 S S S EXECI CECELERE 10°F 1
o : : : : Entries 4 o 4
r Mean r 0
_ Std Dev _ 0
10°F - 10°F 1
F Entries F Entries 4
- Mean - Mean 0
10—5 Lo Std Dev 10—5 - Std Dev 0
F Entries 4 F Entries 4
I : : : Mean 0.25 I : : : : Mean 0
010763... ETE PR ||||Il||||||||||Ild&|sllllllllh!4dfl 01059”” |||||||||I||||||||||||||||||,‘:]d|31|||||||||||r|
S 0 L S R A T
0.9F e A SN S SR SO S
0.8F t B
F— H H H H H H H H 5 1 H H H H H H H H
0.7E 0.95
0 05 115 2 25 3 35 4 45 5 0 05 1 15 2 25 3 35 4 45 5
Aot
—— —p:
= peM-p
mean hif == %g D
—— p
= 20 Entries 1
" o : : : : : : : : + | Mean 14
> 19F------ e . - . . . . : © | Std Dev 0
A E : . . . . . . . . . H H |
& 18 :_ Entries 4
6 r Mean 14
F Std Dev 1.871
17E T
F =y 2
16 Mear 14
F Std Qev 1.871
15F akr 1o
- Entrigs <
14 i Mear 14
o std v 1.871
= N N NN ]
13: Entrigds 4
E Mear| 14
12 E Std Oev 1.871
: o I [
11__ Entries 4
E : : : : : : + | Mean 14
OLw'....l....I....I....I....I.... o +v INETE AT NU FERTE IR U IT W AR A P PV ETTE pere |
g L 5
o o [
| e R A AR R b
0.95L : : : : i - 095kt e
=3 -2 -1 0 1 2 3 10 11 12 13 14 15 16 17 18 19 20
track n track hits
[ N of simulated tracks vs pT | [Nofreco track vs pT |
Entries 10004 1e Entries 7
N Mean 499.7 E Mean 449.6
1] Std Dev ‘5 r Std Deje oy gl
107°g : -1l : I
F Entries 10004 lo E Entrieg 10
r Me 499.7 o Mean 0.4
-2 ev 285.5 L Std De] 4.3
10 E : 1 10—2_— ----- NI
F Entries 10004 E Entrie: 10
- Mean 499.7 F Mean 0.4
-3 Std Dev 285.5 B Std Dej 4.3
10°F - 3
3 - 1073 SR 1 B £ 1
r Entries 10004 o Entries 10
L Mean 499.7 r Mean 0.4
—4 L Std Dev 285.5 _ td 44.3
107 ; I 107 - i
- Entries 10004 F Entries 10
r Mean 499.7 r Mean 0.4
10°° Std Dev 2855 10k Std De 4.3
E : | E : |
E Entries 10004 F Entries 10
6 r | Mea'l'] 499.r7l 6 I | | MEa'I'] SSO.ﬁ
'910\-' - L Stenal L ipen ol10 ) Stanal L
= i = v
] [
o N
1—' =
0.95 i i i

=
o
I8
=
=
o
[
o
N




	Contents
	Page 1


